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Question Number : 1 Question Id : 54947026963 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most expected immediate outcome of teaching is

Options :

Changes in the behaviour of students in desirable direction
1. ¥

Development of total personality of students
2. %

Building characters of the students



Getting selected for a suitable job

Question Number : 2 Question Id : 54947026964 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good teaching is best reflected by
Options :

Attendance of students

1. ®
Number of distinctions
2. %
Meaningful questions asked by students
3.¢
Pin-drop silence in the class
4.%

Question Number : 3 Question Id : 54947026965 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Listening to a lecture is basically



Options :

Informational listening

1. ®

Evaluative listening
2. ¢

Emphatic listening
3. %

Dynamic Listening
4. %

Question Number : 4 Question Id : 54947026966 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a characteristic of a slow learner?
Options :

Limited vocabulary

Short span of attention



Abstract thinking
3.¢¥

Limited range of interests

Question Number : S Question Id : 54947026967 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dynamic approach to teaching means
Options :

Teaching should be forceful and effective

1. ®

Teachers should be energetic and dynamic
2. %

The topics of teaching should not be static, but dynamic
3. %

The students should be required to learn through activities
4. v



Question Number : 6 Question Id : 54947026968 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For an efficient and durable learning, learner should have

Options :

Ability to learn only

1. %
Requisite level of motivation only
2. %
Opportunities to learn only
3. %
Desired level of ability and motivation
4.9

Question Number : 7 Question Id : 54947026969 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Literacy Mission was established in

Options :

1996



1988

2.¢

1999
3. %

2000
4. %

Question Number : 8 Question Id : 54947026970 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Research can be conducted by a person who

Options :

Has studied research methodology

Holds a postgraduate degree
2. %

Possesses thinking and reasoning ability
3. ¢



Is a hard worker

Question Number : 9 Question Id : 54947026971 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following research specifically requires objectivity to discover facts

and causes from the data gathered for the purpose?

Options :

Quantitative research
1.

Fundamental research
2. %

Qualitative research
3. %

Action research

Question Number : 10 Question Id : 54947026972 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The classification of studies into exploratory. descriptive, analytical, or predictive
research is based on
Options :

Logic of the research

1. %

Outcome of the research
2. %

Process of the research
3 %

Purpose of the research
4.

Question Number : 11 Question Id : 54947026973 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of study will be preferred by a researcher to estimate the degree of

relationship between the level of education and achievement motivation?

Options :



Naturalistic

1. ®

Inventory
2. %

Correlational
3.¢

Experimental
4.%

Question Number : 12 Question Id : 54947026974 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good research ethics means
Options :

Not disclosing the holdings of shares or stocks in a company that sponsors your
research

Assigning a particular research problem to one PhD or research student only
2.¢



Discussing with your colleagues confidential data from a research paper that
you are reviewing for an academic journal

Submitting the same research manuscript for publishing in more than one
journal

Question Number : 13 Question Id : 54947026975 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A research paper
Options :

is a compilation of information on a topic

1. ®
contains original research as deemed by the author

2. %
contains peer-reviewed original research or the evaluation of research
conducted by others.

3.¢

can be published in more than one journal.



Question Number : 14 Question Id : 54947026976 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Manipulation is always a part of
Options :

Historical research

1, *
Fundamental research
2. %
Descriptive research
3. %
Experimental research
4.9
Is Section Default? : null

Question Id : 54947026977 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Ecosystems provide people with a variety of goods and services. food. clean water, clean
air, flood control. soil stabilization, pollination, climate regulation, spiritual fulfilment, and
aesthetic enjoyment, to name just a few. Most of these benefits are either irreplaceable or the
technology necessary to replace them is prohibitively expensive. For example. potable

freshwater can be provided by desalinating sea water, but only at great cost.

The rapidly expanding human population has greatly modified the earth’s ecosystem to
meet their increased requirements of some of the goods and services, particularly food.,
freshwater, timber, fibre. and fuel. These modifications have contributed substantially to human
well being and economic development. However. the benefits have not been equally distributed.
Some people have actually been harmed by these changes. Moreover, short-term increases in
some ecosystems’ goods and services have come at the cost of long-term degradation of others.
For example, efforts to increase the production of food and fibre have decreased the ability of

some ecosystems to provide clean water, regulate flooding. and support biodiversity.

Sub questions

Question Number : 15 Question Id : 54947026978 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Expanding human population has an adverse effect on
(A) Spiritual fulfilment
(B) Availability of potable freshwater
(C) Employment
(D) Biodiversity
Which of the statements given above are correct?

Options :

(A). (B). and (C)

1. ®

(B). (C). and (D)
2. %

(B) and (D)
3.9

All of the above
4, %

Question Number : 16 Question Id : 54947026979 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The passage mentions that ‘some people have actually been harmed by these
changes’. It indicates towards
Options :

Inequitable distribution of benefit

1. ®
Decrease in the ability of some ecosystems to provide clean water. regulate
flooding, and support biodiversity
2. %
Both (1) and (2)
3. ¢
Neither (1) nor (2)
4. %

Question Number : 17 Question Id : 54947026980 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct in the context of the passage?

Options :



The rapid expansion of population has adversely affected some people

1. v
Sufficient efforts have not been made to increase the production of food and
fibre

2. %
In short term, some people may be harmed. but in long term, everyone will
benefit from modifications in earth’s ecosystem

3. %

No answer

Question Number : 18 Question Id : 54947026981 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With reference to the passage. consider the following statements:
(A) It 1s imperative to modify the earth’s eco-system for the well-being of mankind
(B) Technology can never replace all the goods and services provided by ecosystems

Which of the statements given above is/are correct?

Options :



Only (A)

] ®
Only (B)
2. ¢
Both (A) and (B)
3. %
Neither (A) nor (B)
4, %

Question Number : 19 Question Id : 54947026982 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage. which of the following can be taken as the main reason for
modification of earth’s ecosystem?

Options :

Technology

Increasing population
2. ¢



Lack of an integrated approach

No answer

Question Number : 20 Question Id : 54947026983 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be considered as the most suitable title for the passage?

Options :
Modification of our ecosystem
1.¢
Our natural resources
2. %
Harmful effect of increase in human population
3. %
Human interference in our ecosystem
4.%

Question Number : 21 Question Id : 54947026984 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



With reference to the passage. consider the following statements:
(A) Technology driven ecosystems are alternate means of future needs

(B) Technology helps in improving ecosystems on short term basis but at the cost of

long term eco-degradation

Which of the statements given above is/are correct?

Options :
Only (A)
], %
Only (B)
2. %
Both (A) and (B)
3.9

Neither (A) nor (B)

Is Section Default? : null

Question Number : 22 Question Id : 54947026985 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The essential components of communication are

Options :

Source, message, interference, channel. receiver, feedback. and context
1.¢

Sign, source, destination, interaction, and correlation

2. %

Signs, symbols, understanding. communication, and communicant
3. %

Symbols, understanding. purpose. ideas. opinions, non-verbal, and reaction
4.%

Question Number : 23 Question Id : 54947026986 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another term used for interpersonal communication is
Options :

Group communication
1. %



Face-to-face public communication

2. %

Dyadic communication
3.¢

Traditional communication
4, ®

Question Number : 24 Question Id : 54947026987 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication in the class fails because
Options :

The students are inattentive

The teacher is monotonous in delivering the message
2.

The students have no interest in the lesson being taught



There is very much noise in and around the classroom

Question Number : 25 Question Id : 54947026988 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ability to understand, communicate with, motivate. and support other people.
both mdividually and in groups. define which of the following organizational skills?

Options :

Hard skills
1. %

Soft skills
2.9

Conceptual skills

Political skills

Question Number : 26 Question Id : 54947026989 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In India for broadcasting TV programmes which system is followed?

Options :

NTCS
1.

PAL
2.¢

NTSE
3. %

SECAM
4, ®

Question Number : 27 Question Id : 54947026990 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the process of communication, which one of the following is in the chronological
order?

Options :

Communication, medium, receiver, effect message



Medium. communicator. message. receiver, effect

2. %

Communicator, message. medium. receiver, effect
3.¢

Message. communicator. medium, receiver, effect
4.%

Question Number : 28 Question Id : 54947026991 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication between two or more people is called

Options :

Organizational communication
1. *

Interpersonal communication
2.¢

Extrapersonal communication



Intrapersonal communication

Question Number : 29 Question Id : 54947026992 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1.8, 27 64 125. 216, ...

Options :

256
1. %

343
2.

365
3. %

400
4, %

Question Number : 30 Question Id : 54947026993 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ABD, CDF, ..., GHJ, IIL

Options :



EFH

1.¢

L
2. %

HIJ
3. %

HIK
4. %

Question Number : 31 Question Id : 54947026994 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “SELDOM” is coded as “1 24 3 6 5°, how will you code “MODE"?

Options :

3621
1. %

6238 1
2. %

5632

3.¢



[}
]
s
%)

Question Number : 32 Question Id : 54947026995 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

E is the son of A: D is the son of B. E is married to C. C is the daughter of B. How is
D related to E?

Options :
Brother
1. %
Uncle
2. %

Father-in-law

Brother-in-law
4.

Question Number : 33 Question Id : 54947026996 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Raman travels a distance of 5 ki in south direction. He turns to his right. After
walking 3 km, he turns to the left and walks 5 km. Now in which direction is he from
the starting place?

Options :
West
1. ®
South
2. %
South-west
3.¢

North-east

Question Number : 34 Question Id : 54947026997 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P.Q.R. S, and T are sitting in a straight line facing north. P sits next to S but not to T.
Q 1s sitting next to R. who sits on the extreme left corner. T does not sit next to Q.
Who sits to the left of S?

Options :



1.¢

Q
2. %

H
3. %

S
4. %

Question Number : 35 Question Id : 54947026998 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The year next to 1991 will have the same calendar as that of the year 1991.

Options :

1992
1. %

1995
2. %

1996

3. %



1997

Question Number : 36 Question Id : 54947026999 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A disjunctive proposition is a type of
Options :
Conditional proposition

l.¥

Unconditional proposition

2. %

Categorical proposition
3. %

Imperative proposition
4.%

Question Number : 37 Question Id : 54947027000 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Honesty is the best policy’ because



Options :

God rewards those who follow this maxim

1%
It leads to recognition in the society
2. %
It facilitates cohesiveness in society
3. ¢
It leads to material prosperity and spiritual awakening
4. %

Question Number : 38 Question Id : 54947027001 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered L. II. III. and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

Some tables are TVs.

Some TVs are radios.
Conclusions:

I. Some tables are radios.

IT. Some radios are tables.

ITI. All radios are TVs.

IV. All TVs are tables.

Options :

Only I and III follow

Only IT and IV follow



All follow

Nomne follows
4. W

Question Number : 39 Question Id : 54947027002 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered I II, III, and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

All branches are flowers

All flowers are trees.
Conclusions:

I. All branches are trees.

IT. All trees are branches.

ITI. All flowers are branches.

IV. Some trees are branches.

Options :

Only I and I'V follow
1.v

Only II and ITI follow



All follow

3. %

None follows

Question Number : 40 Question Id : 54947027003 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are voluntary provisions in the 73rd Constitutional
Amendment Act (1992)?
L Minimum age of 21 for contesting elections to Panchayats

IT. Indirect elections to the post of Chairperson Panchayats at the
intermediate and district levels.

I1I. Representation of Members of Parliament and State Legislature on
Panchayati Raj institutions

IV. Reservation of seats for backward classes.

Select the correct answer from the code given below.

Options :

LII and IV

1. %



II. IIT. and IV

2. %

L. II. and IIT
3, %

I and IV
4.9

Question Number : 41 Question Id : 54947027004 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement ‘some men are honest” is false, which among the following
statements will be true? Choose the correct code given below.

(1) All men are honest.
(11) No men are honest.
(111) Some men are not honest.

(1v) All men are dishonest.
Options :

(1). (i1) and (ii1)
1. ¢



(i1), (ii1) and (1v)

2. %

(1). (111) and (1v)
3. %

(1), (1) and (1v)
4. %

Question Number : 42 Question Id : 54947027005 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two premises.
Premises:
(1) All saints are religious. (major)
(11) Some honest persons are saints. (1inor)

Four conclusions are drawn from those two premises in four codes. Select the code
that states the conclusion validly drawn.
Options :

All saints are honest.



Some saints are honest.

2. %
Some honest persons are religious.
3.
All religious persons are honest.
4. %
Is Section Default? : null

Question Id : 54947027006 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
Study the pie chart given below and answer questions 43, 44 and 45. It gives the breakup of
expenses incurred in publishing a book.

Transport,
10%

Binding, 20%

Paper cost,
25%

Royalty, 15%

Promotion,

Printing, 20%

Sub questions

Question Number : 43 Question Id : 54947027007 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



If the cost price of the book i1s Rs.150, then what is the combined printing and binding
cost for a single copy of the book?

Options :

60
1.v

75
2. %

80
3. %

85
4, ®

Question Number : 44 Question Id : 54947027008 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the central angle of the sector corresponding to the expenditure incurred on
royalty?

Options :

48°



2.

60°
3. %

727
4. %

Question Number : 45 Question Id : 54947027009 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the difference between promotion and printing cost in rupees if we assume
that total cost is Rs.200

Options :

10
1. %

20
2. ¢

30
3. %

40



Is Section Default? : null

Question Id : 54947027010 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)

Note:

Study the following table carefully and answer questions 46—49. It consists of data on the
number of candidates who appeared from five schools in the board exams over 2004-2008.

Schools
Year A B & D E
2004 650 760 820 800 780
2005 700 740 860 780 740
2006 800 820 940 750 730
2007 750 880 920 840 790
2008 850 840 900 860 770

Sub questions

Question Number : 46 Question Id : 54947027011 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the average number of students who appeared from School B for all the
years?



Options :

676

1. %

787
2. %

208
3.

818
4. %

Question Number : 47 Question Id : 54947027012 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of students who appeared in 2006 from School A is what percent of the
total number of students who appeared from School A for all the years together?

Options :

25.25



22.45

Question Number : 48 Question Id : 54947027013 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio between the total numbers of students who appeared in 2004 and
2005 from Schools C and D. respectively?

Options :

34:79
1. ¥

79 : 84
2. %

34 : 89
3. %

89 : 84
4, %

Question Number : 49 Question Id : 54947027014 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the average number of students who appeared from the given schools in
20077

Options :
325
1. %
836
2.9
345
3. %
863
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947027015 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of connect intelligence is derived from

Options :

Virtual reality



Fuzzy logic

2. %

Bluetooth technology
3. %

Value-added networks
4.

Question Number : 51 Question Id : 54947027016 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Programs designed to perform specific tasks are known as

Options :

System software
1. %

Application software
2.¢

Utility programs



Operating system

Question Number : 52 Question Id : 54947027017 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a network device?

Options :
Router
1. ®
Switch
2. %
Hub
3, %
CPU
4. ¢

Question Number : 53 Question Id : 54947027018 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a search engine?

Options :



Macromedia Flash

1. ®
Google
2.
Netscape
3. %
Librarians’ Index to the Internet
4, ®

Question Number : 54 Question Id : 54947027019 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

FTP stands for
Options :

Full Text Processing

File Transfer Program



File Transfer Process

File Transfer Protocol
4.

Question Number : 55 Question Id : 54947027020 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Wired Ethernet is basically

Options :
ADSL
1. #
ISDN
2.9
Broadband
3. %

The Internet

Question Number : 56 Question Id : 54947027021 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eklavya Technology channel, started in 2003, 1s a distant-learning joint initiative
between

Options :

IIT and IGNOU

1.

IIIT and IGNOU
2. %

UGC and AICTE
3, %

IIT and AICTE
4, %

Question Number : 57 Question Id : 54947027022 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following gas affects human health by reducing blood’s ability to cairy

oxygen to different parts of the body?

Options :



Carbon monoxide

1. v

Sulphur dioxide
2. %

Carbon dioxide
3 %

Nitrous dioxide
4, %

Question Number : 58 Question Id : 54947027023 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acid rain 1s formed by the
Options :
Combination of chemical air pollutants with atmospheric water droplets

1.¢

Mixing of acid with rain



Release of industrial pollutants in the atmosphere

No answer

Question Number : 59 Question Id : 54947027024 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Best extinguisher for inflammable materials is

Options :
Water
1. #
SOz
2. %
CO-
3.¢
CO
4. %

Question Number : 60 Question Id : 54947027025 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Nuclear fusion reactions happens spontaneously in
Options :

The core of the earth

1. %
The commercial nuclear reactor
2. %
The atmosphere of the sun
3.¢
The eruption of a volcano
4.%

Question Number : 61 Question Id : 54947027026 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The tallest trees in the world are found in the
Options :

Equatorial region
1.¢



Temperate region

2. %

Monsoon region
3. %

Mediterranean region
4. %

Question Number : 62 Question Id : 54947027027 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following element is used in the making of solar cells?

Options :
Platinum
1. %
Carbon
2. %
Silicon

3.¢¥



Silver

Question Number : 63 Question Id : 54947027028 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Organic food is supposed to be better for human health as

Options :
It is raised on special chemicals
1. ®
It is more expensive
2. %
It 1s grown without the use of artificial fertilizers and pesticides
3.

No answer

Question Number : 64 Question Id : 54947027029 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Ministry of Human Resource Development was created in the year

Options :



1972

1. %

1980
2. %

1985
3.¢

1991
4. %

Question Number : 65 Question Id : 54947027030 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following agency or institution proposed introduction of India
Education Index (IEI) for ranking institutes based on academic, research,
performance, and other parameters?

Options :

AICTE

NAAC



uGcC

IIT-Dellu

Question Number : 66 Question Id : 54947027031 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India. that 1s Bharat. shall be a union of states. The states and the territories. thereof.
shall be as specified in the

Options :

First Schedule
1. ¢

Second Schedule
2. %

Third Schedule
3, %

No answer

Question Number : 67 Question Id : 54947027032 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How do Directive Principles of State Policy differ from Fundamental Rights?
Options :

The former are meant for UTs. whereas the latter are for states.

], %
The former are not enforceable. whereas the latter are enforceable.
2.¢
The former are not a part of the constitution, whereas the latter are the part of
the constitution.
3 %
No answer
4.

Question Number : 68 Question Id : 54947027033 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum strength of Lok Sabha and Rajva Sabha. respectively. 1s

Options :

552 and 250



537 and 275

2. %

525 and 238
3 %

545 and 250
4.«

Question Number : 69 Question Id : 54947027034 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which subject was transferred from state list to Concurrent List by the 42nd
amendment of the constitution?

Options :

Agriculture
1 ®

Education
2. ¥

Irrigation

3. %



Local self-government

Question Number : 70 Question Id : 54947027035 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s the highest Law Officer of a state?

Options :

Attorney General
1. ®

Advocate General
2.9

Solicitor General
3. %

Secretary General
4. %
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Question Number : 71 Question Id : 54947027036 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

World Tourism Day is celebrated on

Options :
27 January

27 September

2. ¢

17 November
3. %

17 October
4, ®

Question Number : 72 Question Id : 54947027037 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tourism mostly leads to

Options :

| & Damage of heritage buildings



Law and order issues

The economic development of a nation
3.¢

, » Environmental issues

Question Number : 73 Question Id : 54947027038 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Domestic tourism comprises

Options :

The activities of a resident visitor within the country of reference as part of
inbound tourism only.

The activities of a resident visitor within the country of reference as part of an
outbound trip only.

The activities of a resident visitor within the country of reference. either as part

, of a domestic tourism trip or part of an outbound tourism trip.
3.

The activities of a resident visitor within the country of reference,
4. %



Question Number : 74 Question Id : 54947027039 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MICE stands for

Options :
v Meetings. Incentives, Conferences and Exhibitions

Meetings, Information, Committees and Entertainment
2. %

Management, Information, Conclaves and Exhibitions

L % Management, Incentives . Conclaves and Exhibitions

Question Number : 75 Question Id : 54947027040 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

National tourism refers to

Options :

Tourism of resident visitors within the country of reference

Tourism of resident visitors outside the country of reference



Tourism of non-resident visitors outside the country of reference

Tourism of resident visitors within and outside the country of reference

Question Number : 76 Question Id : 54947027041 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

TDGDP refers to

Options :
- Tourism Development Gross Domestic Product

Tourism direct gross development process

1 Tourism direct gross domestic product

Tourism direct gross development progress

Question Number : 77 Question Id : 54947027042 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

TDGVA refers to
Options :
Tourism Direct Gross Value Added



Travel Direct Gross Value Added

, » Tourism Department Gross Value Addition

Travel Department Gross Value Added

Question Number : 78 Question Id : 54947027043 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

TALC refers to
Options :
Travel Area Life Cycle

], %

- Tourism Apprenticeship Learning Cycle
Tourism Apprenticeship Life Cycle

L Tourism Area Life Cycle

Question Number : 79 Question Id : 54947027044 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stages in TALC include

Options :



Exploration, Innovation , Development, Stagnation, Rejuvenation/Decline

Engagement, Involvement. Development. Stagnation, Rejuvenation/Decline
2. %

Exploration, Involvement, Development, Consolidation, Stagnation,

™ Rejuvenation/Decline

Exploration, Engagement, Development, Stagnation, Rejuvenation/Decline
4.%

Question Number : 80 Question Id : 54947027045 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The administrative head of the Ministry of Tourism, Govt. of India is
Options :

| » Secretary General (Tourism)

. Secretary (Tourism)
2.

Joint Secretary (Tourism)

General Secretary (Tourism)



Question Number : 81 Question Id : 54947027046 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

GWSP stands for

Options :

| » Ganga Water Spiritual Project.

Gulmarg Winter Sports Project

Gulmarg Winter Skiline Project

Gulmarg Water Sports Project
4.%

Question Number : 82 Question Id : 54947027047 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

IITTM i1s based at

Options :
| % Delhi

Kolkata

2. %



Gwalior

Chennai

Question Number : 83 Question Id : 54947027048 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NIWS stands for

Options :

National Institute of Water Sailing
1. %

National Institute of Women Sports

- National Institute of Water Sports

National Institute of Water and Sewage
4.%

Question Number : 84 Question Id : 54947027049 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The office of National Council for Hotel Management and Catering Technology
(NCHMCT) i1s located at

Options :



|« Mumbai

, » DBengaluru

3@ Noida

Goa

4. %

Question Number : 85 Question Id : 54947027050 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Five key areas set to be given significant focus by the Govt. of India in the next
10 years are

Options :
Beach tourism, Medical tourism. Destination management, Skilling the

. hospitality sector and Educational tourism
1.

Green tourism, Digital tourism, Destination management, Skilling the

g hospitality sector and supporting tourism related to MSMEs.
2.

Beach tourism, Digital tourism, Destination management, Medical tourism and
, » Educational tourism



Green tourism, Medical tourism. Destination management, Skilling the
, = hospitality sector and Beach tourism

Question Number : 86 Question Id : 54947027051 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

By 2021 in India. how many sites are listed under ‘World Heritage List™?

Options :
L& 40 sites

, » 36 sites

Sp
3 % 28 sites

o % 35 sites

Question Number : 87 Question Id : 54947027052 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

As per IBEF report, in 2020 the share of tourism sector in India in the total
employment of the country is

Options :
6%

1. #



2.%

5%
3. %

8%
4. ¢

Question Number : 88 Question Id : 54947027053 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s known as Father of Travel Agency business?

Options :

. Lord Ligonier
1.

_ Karl Benz

William Theobald

3. %

Thomas Cook

Question Number : 89 Question Id : 54947027054 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ICPB is




Options :
An organisation meant for cementing the interface between tourism and MSME

sector
1. %

A Management oriented organisation established to propagate ‘Incredible
- India” campaign internationally.

A Management oriented organisation promoting and establishing India as a

. preferred MICE destination.
3.

An organisation meant for promoting inbound tourism at a greater scale.
4, %

Question Number : 90 Question Id : 54947027055 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[CAOQ stands for

Options :
Indian Civil Aviation Organisation

International Civil Aviation Organisation
2. ¢

3 % International Civil Airlines Organisation



International Civil Airways Organisation

Question Number : 91 Question Id : 54947027056 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The unique feature of WITC is

Options :
The only forum to represent the private sector in all parts of the industry
|« Worldwide.

The only forum to represent the public sector m all parts of the industry
, % Wworldwide

The only forum to deal with conflicts of the industry worldwide

% The only forum to know who-is-who in the industry worldwide.

Question Number : 92 Question Id : 54947027057 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

TAAT represents the interests of

Options :

- Only travel agencies in India



Travel agencies across the world

Travel agencies and guides in India
3. %

Travel agencies in India and other segments of tourism industry
4.9

Question Number : 93 Question Id : 54947027058 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[ATA refers to

Options :

International Air Transport Authority
1. %

International Air Transport Association

Indian Air Transport Association
3. %

. Indian Air Transport Authority
4,

Question Number : 94 Question Id : 54947027059 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



IATA Three-Letter City Code implies

Options :
. Code used in supply chain management of goods and services

J Unique code used in aviation as location identifier of cities and airports
2. ¥

Code used in Transportation of goods
3. %

Unique code used in international logistics of freight
4. %

Question Number : 95 Question Id : 54947027060 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Greenwich Mean Tune’ 1s

Options :

The mean lunar time at the Royal Observatory. Greenwich. London. counted
from midday

The mean lunar time at the Roval Observatory. Greenwich. London. counted
from midnight



The mean solar time at the Royal Observatory, Greenwich, London, counted

from midday
3. %

The mean solar time at the Royal Observatory, Greenwich, London, counted
from midnight

Question Number : 96 Question Id : 54947027061 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the four main vegetation regions in North America?
Options :
Forest, Grassland, Desert, Tundra

1.v

Forest. Orange trees. evergreen oaks and pines
2. %

Olive trees. evergreen oaks, cork trees and pines
3. %

Forest, Olive trees. Desert and pines
4.%

Question Number : 97 Question Id : 54947027062 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Continental Climate refers to

Options :
This climatic zone is characterized by high temperatures throughout the year,
with harsh wet and dry periods.

- This climate has a cool summer and very cold winter

Climate 1s known for lack of seasonality

Climate having much large differences in temperatures between the warmest
and the coldest months

Question Number : 98 Question Id : 54947027063 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Environment Protection Act was enacted in the year

Options :

. 1990

L« 1980
1986

3.¢



1997

Question Number : 99 Question Id : 54947027064 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Forest (Conservation ) Act was enacted in the vear

Options :

. 1980

1976

1970

3. %

1986

Question Number : 100 Question Id : 54947027065 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India. National Tourism Day is celebrated on

Options :

~ <th :
| 257 January

- 25% April



251 Ayeyst
3. % -

~gth ¢ .
L ow 2D September

Question Number : 101 Question Id : 54947027066 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

World Tourism Day is celebrated to mark the occasion of

Options :
. » Burthday of Thomas Cook

Anniversary of adoption of the UNWTO statutes
2.

Establishment of Travel Age West

L% The first Boeing 747 jet maiden flight

Question Number : 102 Question Id : 54947027067 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Symbiotic Tourism products include

Options :

v Sky Diving, Hang Gliding, Para Gliding



Gardens, theme parks

. Malls, Shopping centres
3.

Museums, Temples

Question Number : 103 Question Id : 54947027068 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is considered as ‘the most opportune moment to unveil a shared vision to make
India as world’s most sought-after travel destination by 2047"

Options :

Launching of “Incredible India’ campaign

- Azadi Ka Amrut Mahotsav — Activating India 2.0

3 % Make in India campaign

Green tourism campaign

Question Number : 104 Question Id : 54947027069 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



One of the kev guiding principles of New National Tourism Policy of India is

Options :

. = To promote liberalisation and innovation i tourism sector

To promote digitalization, innovation and technology in tourism sector

2.¢

To promote mnovation and entrepreneurship in tourism sector
3. %

To promote liberation and entrepreneurship in tourism sector
4,

Question Number : 105 Question Id : 54947027070 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The vision of India’s New National Tourism Policy 1s

Options :
To transform our tourist destinations to provide world class visitor experience

making India one of the topmost destinations for sustainable and responsible
|  tourism.

- To propagate globally that tourism shall be incomplete without visiting India.



To transform Indian tourist destinations imto world class standards wooing
, » International tourists.

To enable international tourists have world class experience in every tourist
, » destination across the country.

Question Number : 106 Question Id : 54947027071 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the key strategic objectives of India’s New National Tourism Policy is
Options :

- To create jobs and entrepreneurial opportunities in tourism sector

- To ensure Supply of skilled work force in tourism sector

To create jobs and entrepreneurial opportunities in tourism sector and ensure
supply of skilled work force

To create jobs and entrepreneurial opportunities in tourism sector and ensure
, » safe neighbourhoods

Question Number : 107 Question Id : 54947027072 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The key performance indicators as per India’s New Tourism Policy include
Options :

" Sustainable tourism and Direct employment and Skilled Professionals

Indirect employment and Skilled Professionals

Sustainable tourism and indirect employment

. Direct and indirect employment
4,

Question Number : 108 Question Id : 54947027073 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Manas Wildlife Sanctuary is located in

Options :

West Bengal
1. ® B

Himachal Pradesh

Nagaland
3. %



Assam
4. v

Question Number : 109 Question Id : 54947027074 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sundarbans National Park is located in

Options :

West Bengal
1. ¢

Karnataka

Mizoram

, » Assam

Question Number : 110 Question Id : 54947027075 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kovalam Beach is located
Options :
West Bengal

1. %

Goa

2. %



3 % Tamilnadu

Kerala

Question Number : 111 Question Id : 54947027076 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mussoorie 1s known as

Options :

Tourists paradise

The Queen of the Hills

Heaven on the Earth

, » The tourists destination

Question Number : 112 Question Id : 54947027077 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Delhi International Airport 1s named as

Options :

. Sardar Vallabhbhai Patel International Airport



Jawaharlal Nehru International Airport

Mahatma Gandhi International Airport

Indira Gandhi International Airport
4. &

Question Number : 113 Question Id : 54947027078 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

AAT stands for

Options :

Airlines Authority of India
1. %

Aviation Authority of India
2. %

Airports Authority of Indonesia

o Anports Authority of India

Question Number : 114 Question Id : 54947027079 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Palace on Wheels was first started on

Options :

26" January 1982
1. ¢

, % 15" August 1980

1¥* January 1982

26" Tanuary 1980

4. %

Question Number : 115 Question Id : 54947027080 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Hovercraft 1s known as

Options :

- Air-bag vehicle

Air-cushion vehicle

Air-free vehicle

Air-cool vehicle



Question Number : 116 Question Id : 54947027081 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The International Aurport located in Hyderabad i1s named as

Options :

|« Rajiv Gandhi International Airport

Indira Gandhi International Airport

. Chaudhary Charan Singh International Amrport
3.

L % Chhatrapati Shivaji Maharaj Airport

Question Number : 117 Question Id : 54947027082 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Characteristics of Hospitality Industry include

Options :

Homogeneity, Inflexibility, Tangibility

. Homogeneity, Inflexibility, Intangibility
2.



Durability. Tangibility, Separability

4 Intangibility, Inseparability. Heterogeneity

Question Number : 118 Question Id : 54947027083 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chain Operations in Hospitality management enables Supply chains to ensure

Options :

v Operational effectiveness and efficiency

Profitability

Market share

Inseparability

Question Number : 119 Question Id : 54947027084 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lifestyle Brand is known to
Options :

Speak about the life stvle of the customers



Have a tag line ‘Life Style”

2.
Operate in metro cities only
3. %
Stay current by changing to fit trends
4.9

Question Number : 120 Question Id : 54947027085 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

*Artithi Devo Bhavah™ means

Options :

Revering guests with the same respect as a God
1. ¢

Giving due respect to the visitors

2.

X Offering special discounts to customers
Offering compliments and gifis to customers

4.%

Question Number : 121 Question Id : 54947027086 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Guests under the category Millennials are those

Options :

J Who take multiple micro-cations in a year instead of a single long trip
1. ¢

) % Who take a single long trip in a year

Who take multiple long trips in a year
4 %  Who visit the hotels once i a blue moon

Question Number : 122 Question Id : 54947027087 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

To attract micro-cationers. one of the important strategies on the part of the hoteliers
is

Options :

Design unique methods of hosting
], ®

Integrating the holiday season into their marketing
2. ¢

Offer special packages



Offer special discounts

Question Number : 123 Question Id : 54947027088 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 5 Types of popular Menus in a Restaurant are
Options :

Banquet menu, Buffet menu, Coffee house menu, cyclical menu, Lounge menu

, « alacarte, static, du jour, cycle. fixed menu.

Luncheon menu, California menu, Ethnic menu, Speciality menu, Lounge

menu
3. %

Static menu. Buffet menu, Coffee house menu. cyclical menu, Lounge menu

Question Number : 124 Question Id : 54947027089 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the prominent players in the US Healthcare/Hospital Food Services Market is
Options :

Culinary Services Group
1.v



Oberoi Group

2. %

Best Western Group

, » Marriott Group

Question Number : 125 Question Id : 54947027090 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 3 P’s in extended Marketing Mix in Services are

Options :

Price. Promotion. Process

Product. Process. Price

, People, Process and Physical evidence
3' -

Place. Price, People

Question Number : 126 Question Id : 54947027091 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

GAP model was developed by




Options :

Clark and Clark

Philip Kotler

2. %

Koontz and Weihrich

, » Parasuraman. Zeithaml and Berry

Question Number : 127 Question Id : 54947027092 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A product life cycle consists of the following stages

Options :

. Introduction, growth, sustenance, maturity
1.

. Introduction, growth, sustenance, decline
2.

, Introduction, growth, maturity. and decline
3. ¢

Introduction, sustenance, maturity. decline



Question Number : 128 Question Id : 54947027093 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Popular Types of Sales Promotion include

Options :
| Free Shipping. Free Returns, word of mouth

, » Coupon Giveaway. Giveaways. word of mouth

, » Buy More Save More, Branded Gifts, word of mouth

4 Discounted products. Flash Sale, Loyalty Points

Question Number : 129 Question Id : 54947027094 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Indian Contract Act was enacted in

Options :

1948

1. ®

o 1872

L« 1882



1956

4. %

Question Number : 130 Question Id : 54947027095 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pro-poor tourism is

Options :

Tourism that attracts the poor

Creation of Tourism facilities matching the affordability of the poor

Tourism that assures entertainment for the poor

. Tourism that generates net benefits for the poor
4.9

Question Number : 131 Question Id : 54947027096 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NTAC stands for

Options :

National Tourism Advisory Council

National Travellers Advisory Council
2. %



National Tourism Admunistrative Confederation

National Tourism Advisory Comimittee

Question Number : 132 Question Id : 54947027097 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

5-Forces of Industry are propounded by

Options :
Alvin Toffler

Michael E Porter

Peter F Drucker

Henri Gant

Question Number : 133 Question Id : 54947027098 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chilika Lake in Odisha 1s

Options :



The largest fresh water lake in India

The largest oxbow lake in India

2.
The largest salt water lake in India
3.¢
The largest artificial lake in India
4.

Question Number : 134 Question Id : 54947027099 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statue of Unity is built in memory of
Options :

Jawaharlal Nehru

, Sardar Vallabhbhai Patel
2.9

Bhagat Singh

Subhash Chandra Bose

Question Number : 135 Question Id : 54947027100 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
ANOVA 15
Options :
A measure of the relation between the mean value of one variable and
| = comresponding values of other variables

A statistical analysis technique in which data sets are compared and measured
, » todetermime thewr significance.

A statistical term describing the degree to which two wvariables move in
, % coordination with one another

A statistical analysis technique to assess how likely something is to happen

Question Number : 136 Question Id : 54947027101 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Henri Fayol is known as

Options :

Father of Scientific Management theory

Father of Modern Management theory

Father of Contemporary Management



Management Guru
4. %

Question Number : 137 Question Id : 54947027102 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Functions of Management are

Options :

- Planning. Commanding . Controlling

Planning. Coordinating, Directing, Controlling

Planning., Commanding. Coordinating. Examining

Planning, Organising, Staffing, Directing, Controlling
4.9

Question Number : 138 Question Id : 54947027103 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Need hierarchy theory of motivation was propounded by

Options :

- Abraham Maslow



Herzberg
2. %

Elton Mayo

, % vroom

Question Number : 139 Question Id : 54947027104 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

7S framework is designed by

Options :
BCG

1. %

Morgan Stanley
;5 v McKmsey & Co

~ ORG
4. %

Question Number : 140 Question Id : 54947027105 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Consuiner Protection Act was enacted in

Options :



1.

L 4

2019

2018

2017

2020



